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‘ , of notes present -
Organization / Notes in chronological| Almost all notes in .| Mostly out of order,

Reflections

| ‘reflections’ complete
with care in notes

and

-‘reflections’

complete
in notes

Neatness order, name and date | chronological order, | name and date often
' on everything name and date on missing
_ 5 most pages , ' e
Questions Question column Most question Less than half of the
completed on all notes,| columns complete, | question columns
higher level questions | some higher level complete
_ attempted questions o
| Main Ideas and All ‘main ideas’ and | Most ‘main ideas’ | Less than half of the

‘main ideas’ and _
‘reflections’ complete

fixed up as soon as possﬂ)le and re-evaluated.
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All notes present

Less than half

: Reflections

‘refiections’ complete

with care in notes

and -
‘reflections’

| complete

in notes

Notes Present Most notes present
- ‘ _ | of notes present
Organization / Notes in chronological| Almost all notes in | Mostly out of order,
| Neatness order, name and date | chronological order, | name and date often
on everything name and date on missing
most pages :
| Questions - Question column Most question Less than half of the
- ' ‘ completed on all notes,| columns compIete, { question columns
higher level questions | some higher level complete
attempted - ‘| questions _ ‘ '
Main Ideas and All *main ideas’ and | Most ‘main ideas’ - | Less than half of the |

‘main ideas’ and
‘reflections’ complete
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' 6.,1.—'Slopé6fa‘L'i‘ne' ._ - - T B Name: -
' - e - . Date:

hoal Detenmne the slope of a hne segment and a lme o ' N T

Toolkitt T [ '™ain Ideas:
- Rdteofchangc _ S 1
. '—_- S.mp sfymg ﬁ'actmns

a Denmtxons )
: KlSc. the vertical dlstance betwccn two pomts

Run the ln:)nzontal dlsta ice betwcen two pm

. Slope. a measure of how one quant:ty changes with reseect to the other it can be calculated usmg

;se_ ' chaﬂge in dependentvarmble

Slone run chanae in mdependent var:able
‘ Detenmnmg the : Ex l) Determme the slones ofthP fo]lowmg line segments. o
- Slopeofaline 3
“Segment ~ "{Step 1: Choos\. two :}omts on the line segment

1. Step.2: ‘Count. the units to determme the rise and the run.
.‘Step 3: Wnte the fractlon in s:rnpiest form. ‘

“a) T

runare, .. , 0 the sjope of the line scgmcnt is

For a vertical line segment, y - and the changc inx !S < The nsc is posxtxve
_and the run is . o
rise i

Slope == .’;ou_ = undcf ned

| When a line scgrncnt g‘cw. up to the both x and y _-. Both the rise and

' When aline segment goa; down o the L Y. . andx . . The
rise is _and the run is »so the slopc of the line segment is S
For a honzon'a! lme segment the change in i .s . Therisets _ andtherunis

" .positive. ’ . '

1 0
Slope= 2= =
.. Tum Tun




. D-'r‘aWihga line | Ex 2) Draw a line segiheht with the given ol O'pe; —
_'segmcntwuhagtven T o

- slope. . 4 o ' S s . =8 . W Aoy
. Siop a) slopg 5 . . ,b_) slo_pe ol 3
. A AV
- x -1 3
< > 5

R 2, A
ux 3) Deternzne the slope of the line’ that passes through E(4,-5) and F(8 6)

Slopeofa lmfs*).'2 2 -' Atxph) B(xz-J’Z)

. Iz_xl :

Ffir_iaiﬁg élopc when
E gwen twopoints.

How else could we have found. the siope?




| Intcrﬁrcting the_.: - | Ex 4j :
slope of a line

Tom has a part—t:me. Job. Hc recorded: the hou:s hc worked and h:s pay for 3 dlffcrent
days Tom piotted these data on a grid. .

X ¥

r

- &) What is the stope of the line. through these pomts? o _ Graph of Tom's Pay :
. b What does the slope tepresent? S ,2 ' :
- -¢) How can the answer to part b be used to de tcrmmc i
‘ 1 2 48
i) how much Tom eamed in 3 5 hou‘r_s?- B N S N
if) the time it took Tom toeam $307 - SR £ N S N S MO DO SO T
: BELEERRRE:
Lottt Fihe Xl L

-

' Reﬂe;ﬁpn: How is the slope of a line related to rate of change?




-6.;2—Slopes-of i’arzillel and Pe‘rpemiicﬁléf Lines - . ._: o Name: - -

S : ~ Date: _ -
: Goal to use s]ope to determme whcthcr two imes are parallcl or perpend:cular e 'j Ty
' -Toolk:t , o ' T Main Ideas:
"~ Slope - - -
- Simplifying fractwus
- Rec:proccus o
| Identlfym“ Parallel , _ _ _ .
Lines . - Lines th‘at have . : . are parallei.
Ex 1) Line ':F passes through E(-4, 2) and F(2 -1).
Lize CD passes through C(-1,7) and D(7, 3)
Line AB passes through A(-4,5) and B(5.,1).
1 Sketch the lmes Are they parallel‘?
NS4
1 X
0 .
identifying . The slopes of two perpeuulcuiar linésare . - ' : that isa

. Iines - 1
perpendicular lines * | 0 wnth a smpe aa#0,is perpend:c:.'ar to a line w1th slope --
. . a

1 Ex 2) Line ST passm t_h:ough S(—2,7) and "l (). 5) Llne Uy passes through
: 'U(~A 3) and V(7 6)

Arc these lines paraliel, perpendlcular or nelther? Calculate thc slopes and thcn
sketCu lhﬁ lmes ta verify your answer : :

i
7




'Uéing'siop

ide

-Identifying aline . |'Ex 3
perpendiculartoa -
" given line.

‘a) Dctcrmmc thc slope of aline that is perpendlcular to the lme through TEEL T
G(-2,3) and H(l -2). _ _ _ _ S £
‘_b) Detennme t e coordmates ofJ so that line GJ is p\,rpcndlcular to ime GH. - |
= o -
.mntlfy a polygdn' ' Ex 4j EFGH ivs'a\_p-ara‘llelogrhm; Is it a rectangle?
=4 .
< : >
I S I 2 BEERE
¥

Reﬂectwu.

.What havc you leamed about parancl and pcrpendlcular lmes‘?




6.4 — Slope-Intercept Form of the Equation for a Linear Function

Name:
Date:

Goal: to relate the graph of a linear function to its equation in slope-intercept form.

Toolkit:

e Slope of aline (m) =

¢ The y-intercept (vertical intercept) of a line is b

Main Ideas:

Yoy rise

xz_.xl run

What is Slope-
Intercept Form of the
'Equation of a Linear
Function -

Writing an Equation
Given Slope and y-
intercept

~ Graphing a Linear
Function Given the
Equation iny =mx +b

The equation of a linear function can be written in
the form y=mx+b, where m is the slope of the line
and b is its y-intercept (with coordinates (0,5) ).

y=mx+b

Ex. 1) The graph of a linear function has a slope % and y-intercept of —4.

Write an equation for this function.

Sy teinr:

(b, By & ¥=ma+b :
A X!
el _

Ex. 2) Graph the linear functions with the following equations:

a) y'=%x+3

b) y=—z~x—-1




Writing the Equation Ex. 3) Write equations to describe the following functions. Verify the equation.
of a Linear Function o
Given Its Graph a) ' ¥ b) e

A
o

o |
[A

= | | £
AN ¥ - T 1V

[N

N

2 fx)
AL /= go)

. Using an Equation of a | Ex_4) The student council sponsored a dance. A ticket cost $5 and the cost for the DJ
Linear Function to was $300. '
Solve a Problem

a) Write an equation for the profit, P, on the sale of  tickets.

b} Suppose 123 people bought tickets. Find the profit.

c) Suppose the profit was $350. How many people bought tickets? -

d) Could the profit be exactly $146? Justify the answer.

Reflection: How do the values of m and b in the linear equation y=mx+b relate to the graph of the
corresponding linear function? Use examples to help.



6.5 — Slope-Point Form of the Equation for a Linear Function © Name:

Function Given Its
- Equation in Slope-
Point Form

Date:
Goal: to relate the graph of a linear function to its equation in point-slope form
‘Toolkit: Main Ideas:
e y=mx-+b
e m is the slope of the line
® b is the y-intercept (vertical intercept) of a line
What is Slope-Point The equation of a line that passes through P(xy, y;)
Form of the Equation || and has slope m is: T
of a Linear Function - : SIPA") * 1,(1}
Y=y =mx—x)
I o
d
**Notice: this is just the slope formula rearranged - z _Z 2 = mn (slope)
AL
- i’—:i:—i(x—xl) =m(x —x1)
= Y=y =mx—xg)
Graphing a Linear Ex. 1)a) Identify the slope of the line and the coordinates of a point on the line with

this equation:

y=2=1(x+4)

b) Graph this equation:




Writing an Equation Ex. 2) a) Write an equation in slope-point form
Using a Point on the for this line '

. ¥ i
Line and Its Slope . _

rh
y
[

Xi

¥ E fl'x}

" b) Write the equation in part a in slope-intercept form. What is the y-intercept of
this line?

Writing an Equation of
. a Linear Function
Given Two Points

‘Ex. 3) a) Write an equation for the line that passes through the points G(~3,—7) and H(1,5) -

Extira Practice:
Write an equation for
the line that passes
through the points
J(—3,3) and K(5,—1)

Reflection: Explain how the general expression for the slope of a line can help you remember the
equation y —y;, = m{x —x;)




6.6 — General Form of the Equétion for a Linear Relation

Goal: 1o relate the graph of a linear function to its equation in general form.

Toolkit: | Main Ideas:
¢ Slope-Intercept form~ y=mx+5b -
e Slope-Point form— y—y1=m(x—xq)
e Rearranging Equations

What is General Form GENERAL FORM of the Equation of a Linear Relation:

- of the Equation of a
Linear Relation? Ax+By+C=0 .

How is Standard Form |
similar? '

Ax+By~=C

where 4 is a whole number (not negative!), and B and C are integers.

STANDARD FORM of the Equation of a Linear Relation;

Rewriting an Equation | Ex. 1) Write each equation in general form and standard form:
in General Form

Graphing a Line in

General Form is 3x+2y—18=0

T P Ll
ek e

1 } ¥
i b i b
! i 31

) y=-2x+4 B y-1=(@+2)

Ex. 2) a) Determine the x- and y~intercepts of the line whose equation

b) Graph the line. c) Verify that the graph is correct



_ Determining the Slope
of a Line Given Its
Equation in General
Form

(switch to Standard!)

Ex. 3) a) Determine the slope of the line with the equation 3x — 2y — 16 =0

b) Determine the slope of the line with the equation 5x — 2y + 12 =0

¢) Determine the slope AND the y-mtercept of the line with the equation
4x — 6y = 0, then graph the line.

YT 7 !
B Pt { 14 i i,
T T . ; :
: [ P : !
B ; !
. i [ ? ‘S,, i
o - i : :
; £ : Lo
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P i 1 i
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i : : -
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Cid L !
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R
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: [ .
UL ;
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L 41 }- ] S
: i i ! :

Reflection: Why can’t you use intercepts to graph the equation 4x ~y =07 (where C=0)



- 6.7 — Graphing Linear Functions from all Three Forms ' Name:

o Date:
Goal: to recognize the different forms of linear functions, and to graph them using the easiest method

Toolkit: : Main Ideas:
- e Slope/y-intercept form

s Point-slope form

¢ (General = Standard form

Ex 1) Label each linear equation as either “y = mx + b7, “pt-slope” or “standard’”:

y—4=5x-3)  y=-3x+5 2x+3y=9 y+1=%(x+2)

~x—5 y=—x—% y= 04x-0.15

What is the best

Ex2) Graph the equation y = —2x+6
way to graph an '

equation’in Step 1: decide what form it is in: state m= and b =
foﬁm? . Step 2: for y = mx + b, put a point on the y-axis at “5”
Step 3: use the slope (m =—= EE) to countup/down ___ and over -~ to a new
point

T TR i

Step 4: connect the dots! . 5 O A R T i

y = mx + b ~__§" : ! : é Wv.,é,‘,,
e startath ST T RENN
. d " S -

go up/down and over : { T
using slope : ,

e connect the dots!

P i § 3

{1 i [N U OO S M O B

Hint: if you like y = mx + b, you can change ahy JSfunction toy = mx +b Jform and use
this method! '




What is the best
way to graph an
equation in

form?

What is the best
‘way to graph an
.. equation in

form?

Ex 3) Graph the equation y+ 1= i—(x +2)

Step 1: decide what form it is in: point = and slope =

Step 2: for point-slope, draw in the point

Step 3: use the slope (m =—= :—E) to count up/down ___ and over ___ to 4 new
point

B S . S . ey

Step 4: connect the dots!

point-slope R
e start at the point L f
e go up/down and over ' |

using slope S IUI

* connect the dots!

Ex 4) Graph the equation 2x+ 3y —6=0 <>
Step 1: decide what form it is in: note: slope =

Step 2: for standard form, find the intercepts (cover x to get y, cover y to. get x)

gy - + ; T
b i i 4 L

x-int = y-int =

Step 3: plot x- and y-intercepts toted

Step 4: connect the dots! (Can check slope)

e getintercepts _ ool h
» plot intercepts ) gt BN »
e connect the dots! RN

standard form “ R AR R
. : e

‘Reflection: Which form of equation do you prefer to graph?

Would you change every equation to your preferred form, or use the different methods for the different
ones? (You may want to try a few in the homework before you answer!)



. "6_._8'— Eijua_ﬁons o‘f,P'arallrel and Pexpendicular Lines = R Name:
o o - - ' Date:

Goal: to recognize the different forms of linear functions, and to- graph them usir_l_g'the éasiésgmethﬁq;ﬂ;;_ L

| Toolkit: . iain Ideas:
_ '+, -siopes of parallel lines are ' R

‘e slopes Qf pg:fpendj'cﬁlar lines are”

© to find the equation of a line, you need:
“q : Y

~ passing through > subint

Ex- 1) For a'line with ;hé siopc 0.7, what is' ihe siope of a line that is

'2) Paraflel? - b)Perpendicular?

Ex 2.} State the sio'pes of lines that are:.
3

: g)‘.‘ parallel to the line 3x +2y—4=0 ' b)perpendicular toy= %x -3 :

Ex 3) For this pair of slopes, what is the value of k if the lines are...

4
P

a) Paralle]? " 'b) Perpendicular?




) A+tP+9=C , y=ix+6 b y+1=-%(x_+2)', 6x-8y+3=0

Ex 45 Are the pairs of lines parallel, perpendicular, or neither?

gt 1

| Ex 5) Find the equation of the Zme G (iny =mx + b form) fhat 18 paralle} to *he lme

2x+3y +9=0 and has the same ,—mtercept as the lme y= 2x + 4

| Ex 6) Fmd the equation of the line (m Ax ¥ Bv +C= 0 form) thaf is

perpcndlcular toy=-3x +4 and passes through the pomt (6 3

Ex £ Find the equation of the lme that is perpen(ncuiar to the x-axis and passcs

through the point {4, 3)

Reflection: What shori-cuts have you picked up this unit to make answering the questions faster? i

T e



